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AN SHEHL
B =oiAmeiYs)
el Azl 2 29 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 113,078 111,439 1,639
01 At2teltl 9,740 9,736 4
O28 AL otEdl 22 otEA 7Y
44,0002 x58t A% 123 2,640
O2Z A &t&d =Bl 28
1,700,000& 1,700
O2Z A 3t&A § MYDISENSE 7Y
1,300 *1000H* 123 1,560
O2F AL 3t&d SN 7L
12,0003 +60~ 123 864
O28 AL ot&4A 2Hl+ 7Y
40,0002 102 A& 400
Ogetaic| & fIgE 2| g8u=s
100,000& 22 200
Od=J| & Bl LUz = 22l 2,376
—SUz(E=21) 22,0003 «3CH+ 122 92
-z o) 11,0003 12CH* 123 1,584
2 S52g4l 103,338 101,703 1,635
Odote=Er= 580,000& * 122 6,960
OFSPIEei=) 3,900,000& «12& 46,800
OREYS ME= 44,0002« 128 528
O28 A HAES 30,000,000& 30,000
O2F AL Aot 2| el A (HSIIsE
2, ZREUFA Ta)
200,000 * 122 2,400
O2F AL R21BHIE4 240,000 122 2,880
O2F AL HJ|tM 2| ES
200,000 x 122 2,400
O2F A HHES 250,000 23] 500
O2F AL A2 HHEH B9
1,800,000& 22 3,600
O8RS (23X
50,000 *23] 100
OXSXHA (ZHERE) 500,000 22 1,000
OXNSABA =2 (2SI
30,0002 1CH 30
OgREXE MIXHI
25,0002« 1CH =12 300
OgRE e ==U
1,600 %15, 000km/hx10% 2,400
OAlZ EHIs Xl 2,440
—3t&4 Hitl sX2el
20,0002 12CH+62 1,440
—2ZAL AN R 2
1,000,000 %14 1,000
O&JIZH ZIIEM € =68
1,000,000 *14] 1,000
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SN SYEH
B =oiAmeiYs
el sYsENY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=g - =& U ABNY LHHE a8
22,000,000 22,000
301 EtE2 NS 550 550
1 BAREIXES 550 550
OSQICH e8| S SAYEN
550,000& 550
SAOISAEHZALKIE 107,690 76,043 31,647
Jl 69,070
Al 38,620
101 @124H| 95,213 52,046 43,167
Il 66,649
Al 28,564
MU IIRIMZZENSES 95,213 52,046 43,167
OsXO0ISAHZAIERR Q12|
95,212,310 %14 95,213
) 66,649
Al 28,564
201 2= 12,477 23,997 A11,520
Jl 2,421
Al 10,056
01 At2telt] 12,477 23,997 A11,520
OSXOIZSAEHZAL AHR2t2I]
3,477, 0003 %14 3,477
Jl 2,421
Al 1,056
Osgsis OIdZ =R UHERS 23E
It 300,000& »304 9,000
sk?Ad= 28 X& 15,000 15,000 0
201 2egh=3| 15,000 15,000
01 At2t2ltl 15,000 15,000
OsXIAds 244l XI&
15,000,000& 15,000
s219 &0l & e 5,437,684 6,524,148 11,086,464
= 1,010
& 2,002,861
Al 3,343,813
s012 S8 XA 4,963,261 5,119,261 A156,000
= 2,064,000
Al 2,899,261
101 @124H| 19,261 19,261
04 JIZtNZ22 NS+ 19,261 19,261
Os0RIZoY S ANSEE 2R
19,261,000 19,261
301 22N = 4,944,000 5,100,000 /156,000




SN SYEH
B =oiAmeiYs)
el seol Aol 2 g (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,064,000
Al 2,880,000
14 IIEt2 8= 4,944,000 5,100,000 /156,000
Os02l =94+¢ XA 4,944,000, 000 4,944,000
= 2,064,000
Al 2,880,000
SHELEIISAE 297,000 297,000
308 AtXIEHMSOIE 297,000 297,000
07 MXIHHIPE = 297,000 297,000
Os0ENEII=S 283 297,000,000 297,000
SR = OIXAY XIEHA 81,056 101,056 /20,000
< 12,317
Al 68,739
307 glztol & 81,056 101,056 220,000
= 12,317
Al 68,739
08 OIXt2& = 81,056 101,056 220,000
OSYFMZ 01X N (SXIH)
41,056,000 41,0%
S 12,317
Al 28,739
O=sHEMIZ 0IX XA (SIHRE %)
40,000,000 40,000
sgel 235 X 67,608 67,608 0
= 10,141
Al 57,467
301 LEtE N = 67,608 67,608 0
= 10,141
Al 57,467
4Bt 2as 67,608 67,608 0
Ogt==s0t AMEES
7,600 +340F 122 31,008
< 4,651
Al 26,357
SEECHINEEE
68,5003 x200F « 122 15,600
= 2,340
Al 13,260
SEEELINEEE
70,0002 *300E + 1= 21,000
< 3,180
Al 17,850
SsHE QETAY 7,339 7,223 116
101 @124H| 5,619 5,503 116
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B =oiAmeiYs)
el seol Aol 2 g (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
04 JIZH 22 RS 2% 5,619 5,508 116
OS0l&0I8 OEEY ASEE 02l
2,309,325 x2 & 4,739
OO ELUS HMEH AIREX 0]
20,000+ 12 »44 880
201 2= 1,000 1,000
01 A2l 1,000 1,000
OSOZQUALA 222 AR L ADE
- 1,000,000 1,000
202 04l 720 720
01 =LHA LI 720 720
OsOELY A, HE S0 0]
10,000+ «32* 1201 2 720
sEAZFH SENA(sE2) 2,020 2,500 N480
= 1,010
= 303
Al 707
307 gl2to| & 2,020 2,500 480
= 1,010
= 303
Al 707
12 2I2EOIR & = H| 2,020 2,500 A480
OsHEQY MEIAIMIS
2,020,000 2,020
= 1,010
= 303
Al 707
SOEE ALHEAL XIH 17,500 24,500 27,000
= 5,000
Al 12,500
301 EtE2 NS 17,500 24,500 AT7,000
s 5,000
Al 12,500
14 0Bt 2a s 17,500 24,500 A7,000
Os0E2E AMAIE K&
17,500,000 * 14| 17,500
& 5,000
Al 12,500
sYAE W= K& 1,900 5,000 23,100
= 1,100
Al 800
301 EetE2 N = 1,900 5,000 23,100
=S 1,100
Al 800
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SN SYEH
B =oiAmeiYs)
cell BENsEHNSEZE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HEHN=sEHOISE2E 546,372 437,715 108,657
HEXN sEHIOSHE 22 546,372 437,715 108,657
101 @124H| 22,000 162,59 A140,5%
M IRINZZENSES 22,000 162,596 A140,5%
ONEN sEH0SE H=)| A2y
15,000,000 15,000
OY2M sZH0EY HM=URY
7,000,000 7,000
201 Ler23 | 202,592 163,880 48,712
01 At2t2ltl 22,600 79,000 /56,400
OHZH sZHI0tESE A2 225 +
g S 10,000,000& » 14 10,000
OHEZHN sZH it SMEd 28 23
iz S 12,600
—HI0I= 8,000 *10JH+30! 2,400
-2 1,000 x40 =30 1,200
- 30,0002 1074 *30! 9,000
02 S3=4gl 179,992 74,880 105,112
O=SHEd 2gacd 84
120,000,000 *14] 120,000
OSHNEE 332=(8J], dot+=Ee3)
18,000,000 18,000
OREABLE 3323(XJI, dot+=23)
1,000,000& «12& 12,000
OCCV Stle=s 176,000& 122 2,112
OSHMEE =X EH
5,000,000 *14 5,000
ORXl2te| HA8H 1,000,000& *52 5,000
O HES
120,000 123 +20H 2 2,880
O2+FHsH M)Al Y
3,000,000& 3,000
OfRolZHIEd 250,000 * 122 3,000
OHEN s=H0sd 29 89
3,000,000 *32] 9,000
206 M=l 2,500 4,000 21,500
01 M=4l 2,500 4,000 21,500
OAldE RAl2d 225 2
1,000,000& 1,000
O=&2ac| 457 1,500,000 *14] 1,500
401 Al HIZL 01| 319,280 117,239 202,041
01 Al&H| 317,000 116,400 200,600
HEMN sEHOSE SHEE =2 4
XIS At 200,000,000& 200,000
HWEMN sEHUEE 2MEY 28 2=
SAt 100,000,000 100,000




SN SYEH
B =oiAmeiYs)
cell BENsEHNSEZE (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OSHEE JAHL 22 & 2=
3,000,000 *32] 9,000
Oxg== K2l & dF
3,000,000 %14 3,000
OO &2 & X2l
5,000,000& 5,000
03 Al 20HHI 2,280 839 1,441
OAIE20HbI 2,280,000& 2,280
AsHE EH IRAE 480,510 399,035 81,475
= 118,535
== 89,311
Al 272,664
HsHE SENE 24 12,200 12,200
201 er23| 8,600 8,600
01 At2teltl 3,600 3,600
OHsHE &8+ 2¢ 600
—s% N 2 AEF 7Y
600,000 600
OFsHE €83 & 2453 1,000
—HIME € AZE S 7Y
1,000,000 1,000
OF=sHE |X EEE2 MH(2IZH )
2,000,000 2,000
03 A2 I 5,000 0 5,000
OFAsHE A3S 5,000,000 5,000
202 04l 2,600 2,600
01 SLHoIH 2,600 2,600
OFIs7E g2F8 U0
2,600,000& 2,600
301 eEtE N = 1,000 1,000
11 #AIAMHIXIZ S 1,000 1,000
OAsHE AKX 2tEe & 235
500,000 22 1,000
HsHE R N 45,000 189,000 144,000
< 13,500
Al 31,500
201 Ler23 | 34,000 32,400 1,600
= 10,200
Al 23,800
01 At2teltl 5,000 14,400 29,400
OFIs7E SUIRIt 29 2,000,000 2,000
= 600
Al 1,400
OA=s7E SE=SS MH 3,000,000 3,000
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B =oiAMeYs
e AsAE AESY A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 900
Al 2,100
03 A=Y 29,000 18,000 11,000
OAsAE ¢&al ot 19,000,000& 19,000
= 5,700
Al 13,300
OA=HE 83lZ2 0 2o
10,000,000 10,000
[ 3,000
Al 7,000
202 04l 1,000 2,000 21,000
= 300
Al 700
01 =LHOHI 1,000 2,000 21,000
OAsAHE |XXE =2 =& bl
1,000,000& 1,000
s 300
Al 700
307 lztol & 10,000 93,800 /83,800
S 3,000
Al 7,000
02 2B YA E X 10,000 93,800 83,800
OFSAAZ oi2E T4
10,000,000 10,000
= 3,000
Al 7,000
HE(SE)0A 2ot2I| 29 50,000 0 50,000
< 15,000
Al 35,000
307 212+01& 50,000 0 50,000
< 15,000
Al 35,000
02 2IZHBHAIHE £ 50,000 0 50,000
OXI(=E)UAM 012D 2Y
50,000,000& 50,000
= 15,000
Al 35,000
HsEE AAS HSH A 5,000 0 5,000
301 LEtE NS 5,000 5,000
14 0Bt 2as 5,000 5,000
O7Fisgyd MHAS FSHl X 5,000
—EE(18.28), AEEZHI
5,000,000 5,000
FsFIELN XNHLUS St0te &AL 11,800 0 11,800
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SN SYEH
B =oiAMeYs
e AsAE AESY A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 3,750
Al 13,750
402 QIF X201 & 17,500 25,000 AT7,500
= 3,750
Al 13,750
02 PIIH2 AN 2 X (OIH T 17,500 25,000 AT,500
OFE HASE TAAY
17,500,000 * 10K 2~ 17,500
=S 3,750
Al 13,750
FHsYol Hs0tel X 5,000 3,125 1,875
< 1,500
Al 3,500
307 elztol & 5,000 3,125 1,875
= 1,500
Al 3,500
02 2IZHBHAIAE & 5,000 3,125 1,875
OFd=sgel Hds0tel X3
2,500,000 *20H 2= 5,000
= 1,500
Al 3,500
FEsgol sXEE XA 3,600 0 3,600
< 900
Al 2,700
301 LELE NS 3,600 0 3,600
= 900
Al 2,700
14 IIEt2d3 3,600 0 3,600
OFH=sgo sXEE K&
1,200,000 3% 3,600
= 900
Al 2,700
3 sgo Ss3T N3 171,910 171,910 0
= 118,535
= 14,661
Al 38,714
201 fet= 3| 6,310 5,660 650
= 3,185
Al 3,195
01 AtR2tc|Hl 6.310 5,660 650
OFd=sgel 42 =8 6,310,000 6.310
= 3,155
Al 3,185
202 04l 2,000 2,000 0




SN SYEH
B =oiAMeYs
e AsAE AESY A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,000
Al 1,000
01 2LHoIH 2,000 2,000 0
OHE=0 42 27 o]
2,000,000 2,000
= 1,000
Al 1,000
301 EetE NS 700 1,350 2650
= 350
Al 350
11 AALAEIXIE S 700 1,350 AB50
OHE=0l R 28 MAH X2
700,000 700
= 350
Al 350
307 elzto| & 162,900 162,900 0
= 114,030
= 14,661
Al 34,209
02 2B YA HE X 162,900 162,900 0
OBUse AsHENAZ X2
162,900,000 162,900
= 114,030
& 14,661
Al 34,209
Hesgo s4X2 1,031,220 132,320 898,900
= 8,220
< 281,946
Al 741,054
Hdsge =X=s NI 117,520 118,620 AT1,100
= 28,302
Al 89,218
301 EtE N = 8,620 0 8,620
= 1,077
Al 7,543
14 JIEt2 a3 8,620 0 8,620
OsJt=201 XI& 8,619,520 8,620
s 1,077
Al 7,543
307 212+01& 108,900 118,620 A9,720
S 27,225
Al 81,675
02 2IZHB A E £ 108,900 118,620 N9,720




SN SYEH
B =oiAmeiYs
ol ddsgel s8X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Os80l 012 3524 X8
2,420,000 4501 2 108,900
= 27,225
Al 81,675
SESS 00I=SHH A2 13,700 13,700 0
= 8,220
= 1,644
Al 3,836
307 el2to| & 13,700 0 13,700
= 8,220
S 1,644
Al 3,836
02 2B YA HE X 13,700 0 13,700
Os&SS O0I=SHE XA
13,700,000 * 10 2= 13,700
= 8,220
& 1,644
Al 3,836
Hesgol HSHRX X2 900,000 0 900,000
= 252,000
Al 648,000
301 EetE2 NS 900,000 0 900,000
=S 252,000
Al 648,000
14 0Bt 2as 900,000 0 900,000
O0I& =20l HHISH X2
200,000& *4,500& 900,000
< 252,000
Al 648,000
SHAESMHEXNE 819,384 1,030,000 A210,616
= 491,629
== 65,551
Al 262,204
Hg JtAetd X 819,384 1,030,000 210,616
= 491,629
== 65,551
Al 262,204
301 2= 819,384 1,030,000 210,616
= 491,629
= 65,551
Al 262,204
14 0Bt 2a3 819,384 1,030,000 A210,616
Otlz Jt=AE X2 819,384,000 819,384
= 491,629
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B =oiAmeiYs)
el SIASHEXR (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 65,551
Al 262,204
setdsgsy 8,993,861 9,642,760 648,89
= 1,502,487
< 998,182
Al 6,493,192
ga=sg us 88 15,580 18,640 23,060
= 1,500
Al 14,080
201 er2&| 6,980 7,840 A860
01 AfR22IH| 6,980 7,840 860
OBASAXT 22 AT L ADE 3
= 1,500,000& 1,500
ORJls=gal dAgE =28 7Y
1,000,000 1,000
OZEZOE=I KRIIsEHX A Xz
00,0002 *224 14 1,600
OnBA AT S|
8,000 38 120 2,880
202 04| 3,600 4,800 1,200
01 201l 3.600 4,800 A1,200
OREHLL Kol
20,0003 x3H x5« 12& 3,600
301 EtE NS 2,000 3,000 21,000
11 dALEEIXIE S 2,000 3,000 21,000
Oz etBsSsIt A AL 04|
2,000,000 2,000
307 @120l & 3,000 3,000 0
s 1,500
Al 1,500
04 QIZHHAMAIH 2 £ 3,000 3,000 0
Ozlgdsdts HASE It B4 Xz
3,000,000& 3,000
< 1,500
Al 1,500
RIS XHAIA 76,219 113,650 A37,431
= 30,487
< 13,720
Al 32,012
307 glztol & 76,219 113,650 A37,431
= 30,487
== 13,720
Al 32,012
02 LB HAHE L 76,219 113,650 A37,431




SN SYEH
B =oiAmeiYs)
el MEdsgsd (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OSII=2A A X2 (157ha)
76,219,000 76,219
= 30,487
= 13,720
Al 32,012
=H 32y0l s=3Atd 81,189 78,000 3,189
& 7,189
Al 74,000
307 212+01™ 81,189 78,000 3,189
& 7,189
Al 74,000
02 QIZHA A AL E X 81,189 78,000 3,189
=t Y20l T2 K (420)
81,189,000& 81,189
= 7,189
Al 74,000
TS E sHMAXA 2,257,620 2,165,000 R,620
& 468,570
Al 1,789,050
301 LPENZ 2,247,120 2,150,000 97,120
& 468,120
Al 1,779,000
14 J|EtE A2 2,247,120 2,150,000 97,120
OrlstF =L =4 XA (2,208ha)
2,247,120,000& 2,247,120
= 468,120
Al 1,779,000
307 212+01 A 10,500 15,000 24,500
& 450
Al 10,050
02 QIZtBAAIE E R 10,500 15,000 24,500
OSIls % WHSX AZHT X
9,000,000& 9,000
O &d =Dt HSEMDI X
1,500,000& 1,500
= 450
Al 1,050
EEsI ASEH K& 1,780,150 2,378,550 538,400
& 381,350
Al 1,398,800
201 LB-2AY| 30,400 39,600 29,200
& 7,600
Al 22,800
01 A=R2teld| 30,400 39,600 29,200




SN SYEH
B =oiAmeiYs)
el MEdsgsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OUBASHNE BRSY LA X2
30,400,000& 30,400
= 7,600
Al 22,800
301 EetE2 NS 1,749,750 2,338,950 589,200
== 373,750
Al 1,376,000
4 JIEt2 8= 1,749,750 2,338,950 A589,200
OzgdsdE ASKIR(1,3742)
741,950,000 741,950
S 133,950
Al 608,000
ORJls - 5% K= 22H(1,550ha)
1,007,800,000& 1,007,800
=S 239,800
Al 768,000
sEdEsitE RIISES K& 28,823 36,000 AT ATT
< 8,647
Al 20,176
301 EtE NS 28,823 36,000 N7 ATT
= 8,647
Al 20,176
14 IIEt2 83 28,823 36,000 NTATT
RIIsIt sHE MHEEZ= X2 (490na)
28,823,000& 28,823
= 8,647
Al 20,176
fdetd 820Xl 25 N 32,400 36,000 A3,600
< 6,480
Al 25,920
301 EtE NS 32,400 36,000 23,600
= 6,480
Al 25,920
14 IIEt2d3 32,400 36,000 A3,600
Ozed 821X 22 X (300g)
9,000 3002 122 32,400
= 6,480
Al 25,920
dFdsgE= 1,300,000 1,331,300 A31,300
= 1,300,000
301 LEtE N = 1,300,000 1,331,300 /31,300
= 1,300,000
14 JIEt2d=3 1,300,000 1,331,300 /31,300




SN SYEH
B =oiAmeiYs)
el MEdsgsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Ozlgd=sa A2M X2 (1,452na)
1,300,000,000& 1,300,000
= 1,300,000
EAMEH X2 242,000 309,300 267,300
= 172,000
== 35,000
Al 35,000
307 212+01& 242,000 309,300 A\67,300
= 172,000
= 35,000
Al 35,000
02 QB AHANEER 242,000 309,300 267,300
OE MM X2 (1,2198)
242,000,000 242,000
= 172,000
= 35,000
Al 35,000
SIIZHSXJ (HEAY) 2,920,000 3,040,000 120,000
307 212+01& 2,920,000 3,040,000 120,000
02 LB HANHEE 2,920,000 3,040,000 120,000
ORJIEHIZ X3 (H&2:HH)
1,660,000,000& 1,660,000
OMAl FI1&88l= K&
1,220,000,000& 1,220,000
ORJIEHIE Z&EM X
40,000,000 40,000
2uE e FsstE KA 136,320 136,320 0
< 40,8%6
Al 95,424
307 glztol & 136,320 136,320 0
= 40,89
Al 95,424
02 2B YAIHE £ 136,320 136,320 0
OguR detgdsits Xd
480,000 *355% +80% 136,320
= 40,89%
Al 95,424
S HE HAT FESOH |4 51,200 0 51,200
[ 16,360
Al 35,840
307 elztol & 16,000 0 16,000
= 4,800
Al 11,200
02 2B YAIHE & 16,000 0 16,000
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SN SYEH)
B SAAMY
Rl FA dae &F EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
IR Bt = 60,300 47,050 13,250
= 10,395
Al 49,905
206 M=l 16,500 20,000 23,500
01 MZH| 16,500 20,000 A3,500
Ost2Edd SoAtY 16,500,000& 16,500
301 EetE NS 11,700 10,200 1,500
== 2,025
Al 9,675
4 JIEt2 8= 11,700 10,200 1,500
OJNENeIEE I NA(2X)
4,500,000 6= *30% 8,100
= 2,025
Al 6.075
OJ=EMHEE It X (XAl
4,000, 0002 *3= *30f% 3,600
307 21201 & 32,100 9,850 22,250
< 8,370
Al 23,730
02 LB HAHEE 32,100 9,850 22,250
Ogte S5 NEA 7,000 *8005 5,600
& 1,120
Al 4,480
OHX MEESHEH K&
5,000, 0002 x2S *60f% 6,000
= 1,500
Al 4,500
Oste sHE g N
2,000,000& *10=+70% 14,000
= 4,000
Al 10,000
OHX sM=E ot N3
5,000, 0002 * 1= *60f% 3,000
=S 750
Al 2,250
O SHls g4 X2
5,000,000& *1=+70% 3,500
= 1,000
Al 2,500
SIS |BEE R 105,170 77,730 27,440
= 5,811
Al 99,359
201 fet= 3| 4,480 6,960 A2,480
01 AtR2te|H] 4,480 6,960 A2,480




SN SYEH)
B SAAMY
Rl FA dae &F EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O 55 +3 AN
800,000 *1CH* 1 800
Oetgsl dAXAS itz
800,000 *1CH*1& 800
ORI S|
8,000& x3E » 120 2,880
202 04l 3,600 8,400 24,800
o1 =LHolb 3,600 8,400 24,800
Osaee 2ot
20,0002 «32H+62x 12 3,600
301 EetE2 NS 42,360 27,360 15,000
11 #AIAHIXIE S 2,360 2,360 0
OB U2 FAXH0HI
59,0002 *13| x40 2,360
14 JIEt2 8= 40,000 25,000 15,000
OstRHMEA=AE 40,000,000 40,000
307 elztol & 33,590 19,960 13,630
= 3,669
Al 29,921
02 2B YAIHE A 21,960 19,960 2,000
Ogte SEMEH X2 9,000,000& 9,000
O=ttsIt =201 X 12,000,000 12,000
OJis& 23 XA
1,200 *1,000kg*80% 960
= 180
Al 780
08 OIXt2d = 11,630 0 11,630
OAMEF0HAtZE Ol XI&
11,630,000 11,630
s 3,489
Al 8,141
402 BIZtAH=01 A 21,140 15,050 6,090
== 2,142
Al 18,998
01 QI X2 AL E X (KEMITHE) 14,000 0 14,000
OFesIt A=AE X
7,000, 0002 *4CH*50% 14,000
02 QI XHE AL E R (01X THE) 7,140 15,050 A7,910
Ot Ns=ZE8EX Xd
7,140,000 7,140
== 2,142
Al 4,998
SNSUAD[EIRS 6.720 12,000 25,280
= 1,296
Al 5,424




SN SYEH)
B SAAMY
Rl FA dae &F EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 6.720 7,000 A280
= 1,296
Al 5,424
02 2IZHBYAIHE X 6,720 7,000 A280
OYE A BHATIR
10, 0002 *960kg*70% 6,720
=S 1,296
Al 5,424
SueegA A 214,700 214,700 0
7l 129,020
S 21,270
Al 64,410
301 Eet2 NS 214,700 214,700 0
Il 129,020
= 21,270
Al 64,410
14 DBt 2 a3 214,700 214,700 0
Ostue=aA & 214,700,000 214,700
Jl 129,020
= 21,270
Al 64,410
StueeaA 2 A2 760,320 760,320 0
= 152,064
Al 608,256
301 Eet2 NS 760,320 760,320 0
== 152,064
Al 608,256
14 JIEt2 8= 760,320 760,320 0
ODLRTA = X
760,320,000 760,320
= 152,064
Al 608,256
St SOHME 121,376 90,260 31,116
Jl 52,944
= 20,530
Al 47,902
301 LEtE NS 121,376 90,260 31,116
Jl 52,944
[ 20,530
Al 47,902
14 JIEt2d= 121,376 90,260 31,116
OBt SOIHE AR (28
32,000 *484E +102] *7(% 108,416
Jl 46,464




SN SYEH)
B SAAMY
Rl FA dae &F EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 18,586
Al 43,366
OBt T B AL (M)
32,0002 9 %102] *100% 2,880
) 1,440
S 432
Al 1,008
OstUSOtME A S (HE)
42,0002 «24E %102 *100f% 10,080
Jl 5,040
= 1,512
Al 3,528
Sa=01822] A& 10,560 11,424 864
= 5,280
= 1,584
Al 3,696
307 elztol & 10,560 11,424 A864
= 5,280
[ 1,584
Al 3,69%6
02 LB HAHE L 10,560 11,424 N\864
OFHS0IAM (A EREH]) X2
10,560,000 10,560
= 5,280
< 1,584
Al 3,69%6
= SZhoioeg X2 35,080 40,000 24,920
= 7,086
Al 27,994
206 M=l 30,180 35,100 4,920
= 6,036
Al 24,144
01 M=4l 30,180 35,100 A4,920
OJI=E=Z8UHl 12 AEdA 25HH XI&E
1,680,000& 1,680
< 336
Al 1,344
Ogadatdars A& 28,500,000 28,500
= 5,700
Al 22,800
307 gl2to| & 4,900 4,900 0
=S 1,050
Al 3,850
02 QB AANEER 4,900 4,900 0
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9,000

9,000
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72,7%

10,094

1,000
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11,344

HMEE
Ofl &k2h

432,363

123,790

59,500

1,500
58,000

61,140

ol vy

4,900

1,050
3,850
9,000
4,500

H

Al

750
3,750
9,000
4,500

750
3,750
9,000
9,000
4,500

750
3,750

505,159

510
13,431
57,710

433,508

i

J|

W

133,884
21,892
111,992

Al

Iy

1,000
1,000
1,000

59,500

Al

H

14,500
45,000
1,500
1,500
58,000

58,000

Al

H

14,500

43,500

72,484

Al

7,122

65,362
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0H
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oD
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15,000,000 *1
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o
[uind
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e
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=01

F
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01 AtR2telbl

=1

20,000+75%

2,000,000 29
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14 J|Et

307 212+01™

Al




SN SYEH)
B SAAMAY
Chel: EpRA (Hol: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 2IHBHAIHE £ 72,484 61,140 11,344
Ozlgd etesIt ZAE XIE
40,000,002 40,000
OSMAFTIZH KR
22,500,000& 22,500
== 5,250
Al 17,250
OTZHH0IE WS+ H X2
120,000 *104SET*80% 9,984
= 1,872
Al 8,112
402 2IZtA=01d 900 3,150 2,250
=S 270
Al 630
02 RIENEASEZ(0IETHR) 900 3,180 A2,250
Ozlgd H=EIX &Hl K&
90,0002 x20JH*50f% 900
< 270
Al 630
=EER NS 97,880 84,500 13,380
= 6,076
Al 91,804
301 EtE NS 9,500 9,500
1 BAREIXES 500 500
OJEER Jlsns 404
20,0002 *25% 500
14 JIEt2 8= 9,000 9,000 0
Ogd=sR MelX& 3,000 *3,000ke 9,000
307 glztol & 88,380 75,000 13,380
= 6,076
Al 82,304
02 2IZHBYAIHE & 88,380 75,000 13,380
ONE2a =222M X2
40,000,000 40,000
OFAEZME M K& 18,000,000& 18,000
Olt=2h P=8 s &
20,000,000 20,000
= 4,000
Al 16,000
OJIEER ENEl AH2at N2
10,380,000 10,380
s 2,076
Al 8,304
IIEE2R AHlAEH K& 48,000 48,000 0
Jl 6,500




SN SYEH)
B SAAMAY
Chel: EpRA (Hol: &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 41,500
301 EtE NS 48,000 48,000 0
Il 6,500
Al 41,500
14 0Bt 2as 48,000 48,000 0
OIIEER HHI&EHl K&
26,000,000 26,000
Jl 6,500
Al 19,500
OJE2L Y& ZH| X (XEMALY)
22,000,000 22,000
LYHEIXIEH XA 1,020 1,200 A180
= 510
Al 510
402 2I2E X201 & 1,020 1,200 A180
= 510
Al 510
02 QIZEXHZ AL E X (01X THE) 1,020 1,200 2180
OZLE XY X 1,020,000& 1,020
= 510
Al 510
ds=Y 217,180 167,500 49,680
) 3,840
= 29,400
Al 183,940
301 EtE NS 1,000 1,000
11 dALEBIXNIE S 1,000 1,000
OgssIt =0 20,0002 x50 1,000
307 @120l & 135,000 90,000 45,000
02 QIHEHAIEE X 135,000 90,000 45,000
Og=s=ot gaol(a=2)3=Xd
35,000,0002! 35,000
OgEsIt BB TN X
5002 40, 0000H *50% 10,000
o3It A=K 180,000, 000& *50% 90,000
402 2IZtA=01d 81,180 76,500 4,680
Il 3,840
= 29,400
Al 47,940
02 QI X2 AL EE(0IHTHE) 81,180 76,500 4,680
Oogstasd N 67,500,000 67,500
= 27,000
Al 40,500
Ogtsttg=sd XI& 6,000,000& 6,000




SN SYEH)
B SAAMAY
Chel: EpRA CEERE)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 2,400
Al 3,600
O=0gd B= A& 7,680,000& 7,680
J| 3,840
Al 3,840
IAE MaE TR 7,195 7,373 A178
| 3,091
& 342
Al 3,762
307 212+01™ 7,195 7,373 A178
J| 3,091
& 342
Al 3,762
02 QIZtAAAIEE R 7,195 7,373 A178
OZABAI2IX HE - 23| T2
6,156,000& 6,156
J| 2,052
T 342
Al 3,762
OZAZ MUE EXTY X2
1,039,000& 1,039
| 1,039
sS225=X 290,600 212,520 78,080
= 22,500
= 18,850
Al 249,250
RARINSS 2= ME X3 153,900 108,320 45,580
= 4,200
& 17,050
Al 132,650
101 21241l 35,400 31,000 4,400
M IIRNZ2EXsSEs 35,400 31,000 4,400
ORII=SE 254 JI2HH olAb|
35,400,000 35,400
201 B2 AY| 7,880 2,500 5,380
01 AtR2telt] 4,880 0 4,880
ORJl=s28 234 2l 2,000,000 2,000
O=s2=X 3F =l
8,000& x3H x 120! 2,880
02 2324l 3,000 2,500 500
ORJI=g 254 289 K&
3,000,000& 3,000
202 0idl 9,120 4,320 4,800
02 A0l 9,120 4,320 4,800
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SN SYEH)
B SAAMY
&t s=E2s=1 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 7,200
=S 1,800
Al 27,000
14 0Bt 2as 36,000 36,000 0
O&AAN=A S435t ==t N
400,000 =900t2| 36,000
= 7,200
= 1,800
Al 27,000
220 43 == X 60,000 40,000 20,000
= 6,000
Al 54,000
301 LELEN S 60,000 40,000 20,000
= 6,000
Al 54,000
14 IIEt2d3 60,000 40,000 20,000
OZ 00l 43 =4l N&
200,000 %1500t 2| 30,000
= 6,000
Al 24,000
OZ 0| 43 =4l X
200,000& x1500t2| 30,000
SST0 eteisE A=l X2 12,500 12,500
301 EtE NS 12,500 12,500
14 IIEt2 83 12,500 12,500
OS&HMe gifs= d=dl N
250,000 =500t 12,500
JIEEEME 1,082,275 919,229 163,046
= 151,788
Jl 51,800
< 123,517
Al 755,170
EEdgd HeEd 662,534 507,409 155,125
& 66,905
Al 595,629
101 @124H| 195,000 144,000 51,000
= 6,000
Al 189,000
MU IIRIMZZENSES 195,000 144,000 51,000
ONBASAE U YA 2
165,000,000 19H 2 165,000
OANELSAE 28 s A&
30,000,000 14 2~ 30,000
< 6,000




SN SYEH)
B AW
Rl JISEE0E EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 24,000
201 et 3| 26,969 31,969 /5,000
01 At22t2l] 10,000 15,000 25,000
ONBASAE L FAZEL 2
10,000,000 174 2~ 10,000
02 S5=g4l 16,969 16,969 0
OS=2HMRH(KS XA
50,000+2CH 22 200
OS+=MAHEIMERE3)
60,000+2CH*22] 240
OS+=YMAH(NHSZAIZ)
20,000%2CH*12] 40
OS=2MAHFFH)
1,300%19, 500km+ 10%=*2CH 5,070
OS+YMRHGEPS S&=)
4,950+2CH+ 123 119
OAEZEHI(SXIT) 100,000%4CH*12] 400
OANEEH(RFH)
1,500%10 £ *4CH* 15 900
ONBASAE U YA 2
10,000, 000% 17K A 10,000
206 M=l 314,065 263,840 50,225
< 48,855
Al 265,210
01 MHZH| 314,065 263,840 50,225
OS0HA ZAHE gHl X 20,000,000 20,000
OAEE -2 gHl X&H
1,400%1,5005 2,100
O20m7tEHHIE 2 Ml X3
2,800+1,0005 2,800
OII=&EE K s H X2
30,000+50= %72 10,500
O=EdE30RIE SM N&
5,000,000 5,000
(OFd}= 1St 10,000,000 14 10,000
Ol Al AEYARASIH XIS
20,000,000 20,000
OYXIMAD|SEISS2 ®al K&
3,000,000 3,000
= 750
Al 2,250
OANELSAE 298 S A&
80,000,000 *1IH 2 80,000
< 16,000
Al 64,000
OS0HNHAIE M2 A
14,0002 *5005 7,000




SN SYEH)
B AW
&2 JIEEEUY EER=E)
M- B SRAEA) - HRAR - B2 of v G o HIDE2
< 1,750
Al 5,250
O EAME 0|18 25 K&
21,0003 *60% 1,260
= 315
Al 945
OHIAIS AN olLHAT S
15,0002 * 1205 1,800
< 540
Al 1,260
Oz SAs olger X
7,000 %2005 1,400
= 420
Al 980
OS0H S871 olg#ial X
7,000 *6005 4,200
< 1,260
Al 2,940
O HSgfdg(ZER) AR
40,0002 102 400
= 100
Al 300
O HASZH & FHAS K&
123,543,000 123,543
& 26,400
Al 97,143
Ozxg 2¢ gAA3(5) 16,562,000 16,562
OJISM #Hal X2 200&*3,0005 600
=S 150
Al 450
OSIRI 014 X2
2602 %15,0005 3,900
= 1,170
Al 2,730
301 LEtE N = 126,500 67,600 58,900
S 12,050
Al 114,450
14 0Bt 2a3 126,500 67,600 58,900
OJ=dgd ogdE8s Alstl X
7,0002%10,0005 70,000
OHEL=ANE 28 S A&
30,000,000& 30,000
= 6,000
Al 24,000
OA+R et2sIt dzd| XNH
25,0002 *3005 7,500




SN SYEH)
B AW
el JIEEguE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,250
Al 5,250
O4 B2dals YL X
10,0002 %1,9005% 19,000
= 3,800
Al 15,200
EMgY HEEs 44,140 45,140 21,000
[ 4,800
Al 39,340
101 @124H| 11,800 11,800
02 JIEtME = 11,800 11,800
OBEY AL N IIEYHE SRR
900,000+1% 122 10,800
OBEYALIN BT+ L DB
= 1,000,000& 1 1,000
201 et 3| 3,600 4,600 1,000
01 At2t2l] 3,600 4,600 21,000
O =dgd 4=l Xt
175,000%102] 1,780
OJI=FEY BRaS0 HE
60,000+ 1074 %131 600
OHBASNBOS BHAX M=
5,000%1005 500
O==S=HM g2= M& 1,500+5000H 750
206 M=l 3,740 3,740
IEET 3,740 3,740
OJi=gel I P
2203 17,0005 3,740
301 EtE NS 25,000 25,000 0
=S 4,800
Al 20,200
11 #AIAHIXIE S 1,000 1,000 0
OJt=gous FA0H| 10,000+100H 1,000
14 JIEt2 8= 24,000 24,000 0
OPHY S IEYAHEH(B42)) N
1,000,000~2E « 12 24,000
= 4,800
Al 19,200
HZFAL K DS FHAS XA(=) 81,247 72,129 9,118
= 53,441
= 8,272
Al 19,534
206 MH=Hl 70,447 61,329 9,118
= 48,041
< 6,652




SN SYEH)
B AW
Rl JISEE0E EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 15,754
01 M=4l 70,447 61,329 9,118
OJ=g9 oY - 2SS N
70,447,000 70,447
= 48,041
= 6,652
Al 15,754
307 @120l & 10,800 10,800 0
= 5,400
= 1,620
Al 3,780
02 2B YAIHE £ 10,800 10,800 0
OHHAl W2ERal X3 10,800,000 10,800
= 5,400
= 1,620
Al 3,780
AE24PY S WE & 2FH NE (=) 12,000 16,000 24,000
= 3,600
= 2,520
Al 5,880
301 EtE NS 12,000 16,000 24,000
= 3,600
< 2,520
Al 5,880
14 JIEt2d=3 12,000 16,000 24,000
OAS2Mety 2oy My X
15,0003 *8005 12,000
= 3,600
& 2,520
Al 5,880
TR BAXHA 121,326 112,833 8,493
= 60,033
< 18,388
Al 42,905
206 M=Hl 64,526 69,833 25,307
= 31,793
=S 9,820
Al 22,913
01 M=8l 64,526 69,833 25,307
O= M= BRAIXI&A 64,526,000 64,526
= 31,793
= 9,820
Al 22,913




SN SYEH)
B AW
&2 JIEEEUY EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 56,800 43,000 13,800
= 28,240
== 8,568
Al 19,992
14 JIEt2 = 56,800 43,000 13,800
OFHS HAHSAlI=HI 56,800,000 56,800
= 28,240
=S 8,568
Al 19,992
SHEA 28 X2 (2) 28,000 28,000 0
= 14,000
=S 4,200
Al 9,800
206 M=l 28,000 28,000 0
= 14,000
= 4,200
Al 9,800
01 b 28,000 28,000 0
OEHZE4 29 N
28,000,000 *1IH 2 28,000
= 14,000
= 4,200
Al 9,800
FAXY SUEAAHEI S4lg § XA (R) 8,928 11,800 N2,872
= 4,464
= 893
Al 3,571
301 EtE N = 8,928 11,800 A2,872
2 4,464
= 893
Al 3,571
14 IIEt2 83 8,928 11,800 N2,872
OXZREAAEXI(GPS) = N
7,128,000& 7,128
= 3,564
& 713
Al 2,851
OXNERUSAEXI(PS) SAIXBEXR
60,000%30 1,800
= 900
= 180
Al 720
S 2E(22]) 58,324 58,324 0
Jl 29,162




SN SYEH)
B AW
Rl JISEE0E EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 8,749
Al 20,413
307 lztol & 58,324 0 58,324
Jl 29,162
== 8,749
Al 20,413
02 LB HANHEE 58,324 0 58,324
OZsgNe 2 X2 58,324,000 58,324
Jl 29,162
=S 8,749
Al 20,413
SSEHE 2L (MW=4I) 45,276 47,594 2,318
Jl 22,638
=S 6,790
Al 15,848
307 @I2to| & 45,276 0 45,276
Jl 22,638
= 6,790
Al 15,848
02 2B YAIHE A 45,276 0 45,276
O=ssgHet 248l X3
45,276,000 45,276
Il 22,638
= 6,790
Al 15,848
o2 24 20,000 20,000 0
= 16,000
= 2,000
Al 2,000
301 LEtE N = 20,000 20,000 0
= 16,000
= 2,000
Al 2,000
14 DBt 2 a3 20,000 20,000 0
OJIsdgd dx=22ds &
20,000,000 20,000
= 16,000
< 2,000
Al 2,000
SHELUSALSAA 28 =€ 500 0 500
= 250
Al 250
301 EtE2 NS 500 0 500
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